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42- We couldn't see anvtl ng when the light
A, went withoul i vernl or
43- ] really like vour T-shirt. How much does
N P I+ cosl
44- He _|'|.i'|lll||_'|J his friend last night .
A. didn't he H. weren'l he
45- I'm fit and healthy «-=———-— [ do lots of exercize
A. because B. although i
46- The kids ----—-——-- in the garden at the moment
A. play B. are playing
47- This film -- o by millions of people in 2005
A. 15 walched B. was waolched i beer if
48- All the students in my class —-————-- hard last vear
A. WOk B. are working { WOk e
49- Maher has been interested ---—---—----- physics since he |
A, from B. ot [
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I- Choose ithe correct nnswer A, I or €
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§0- 1f Sami finishes his work ear lv, he - ——— to the party
A, would go B. will go C. would |
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1- Choose the correct answier A, Bor C:

46- | - it the

A DTOKES QO | .H
4'.;- It was the = = 1GUrm I

| —

| - =
navente

had broken dc

- H = i b
A. How many I ow much C. How long
&1 [ bought a car --——— - | moved to the city
A. since B. . C. after
%= The plays of Shake ) ined of grea e

A :Im'l"'"l.'T..:!h'-."' B.
B \Mazen s fit and
A. However B

ESrechnology helps people talk -
A B

rmporiant .
thv. the doctor advised hum o 40 5F‘:Fﬁ.

import

Because C. Although
Where C. What
in far countries.

N C.

'I LR o l1 TFam
- LNEIT TEiSLIVES




sl 13 5l lip_l u'IS..l'l sl CulSh p

umll un-ﬂ'l -“"-' Rz

1.5uk | (‘I ﬁ_{_.

i R

(vo Pt Ry T RS )m
Ahal aig _:—ﬂ-'-‘-#"ur..;‘l'"-"u]" 35__ 4
Hhasiions A jm b gl
T [ T E]Fi‘.
| gt asad o2l
— [p| ms _|c| 20ms E‘
e i el Lile e ety e 208 (Dhh S SIS
S soom || 200m Sl

— g00m 1 .
sl gl 25 taglae A

T - Tt o : '_.':
foms _ 20m.s \C| E}

. ,_,J_..L S AMS T A 06 ate 348

= ;_1;_“1_'\-' . “-.- 29 LL,L:'_.HI- 5 | { —l_ Sﬂkg.m.! EI
k . i RRCTT |
2500l (o 2501 € 25)
(et te.=toxts ) Plidal Ay ) R P by
35 ol azall =ifla h“‘f‘?‘i‘j il
Bl [p] e 3yl ﬂ‘ ¥
_Mqumlll’iutqﬁ o A, g

y | D gl € — ﬂﬁ
- Dbl Jats ddilall duaall (ga pladl ) (el
B [D | el il [ g IZIEL

S o peaall Al i pall -

e La:J_ Tl e ﬂ-m

F’”‘J‘J“#"*‘”J-“‘Wﬂlilj:% Ly

gl b Cligall 2 __,u‘[_,...{gu}“_“fg
(40) [c| Taa(a0)
rﬁ*.ﬂv:‘




=

(Y]

sx_| D | ZEifT C

.
bl SN

X ] ct mlx) ::i”_'. v 1 (x }=.'I.'J "I. 3-' m: =
\ __sina |I_(_J

ek

_rﬂ_|-'—-.',‘lsf'f(;'




